
gini = 0.0
samples = 1
value = [0, 1]

class = 1 (preferred)

gini = 0.0
samples = 1
value = [1, 0]

class = -1 (not preferred)

Objective 3 <= 0.125
gini = 0.5

samples = 2
value = [1, 1]

class = -1 (not preferred)

gini = 0.0
samples = 2
value = [2, 0]

class = -1 (not preferred)

gini = 0.0
samples = 1
value = [0, 1]

class = 1 (preferred)

gini = 0.0
samples = 1
value = [1, 0]

class = -1 (not preferred)

Objective 2 <= -0.085
gini = 0.375
samples = 4
value = [3, 1]

class = -1 (not preferred)

gini = 0.0
samples = 1
value = [0, 1]

class = 1 (preferred)

gini = 0.0
samples = 2
value = [0, 2]

class = 1 (preferred)

Objective 3 <= -0.19
gini = 0.5

samples = 2
value = [1, 1]

class = -1 (not preferred)

gini = 0.0
samples = 1
value = [1, 0]

class = -1 (not preferred)

Objective 2 <= 0.02
gini = 0.48

samples = 5
value = [3, 2]

class = -1 (not preferred)

Objective 2 <= 0.145
gini = 0.375
samples = 4
value = [1, 3]

class = 1 (preferred)

Objective 3 <= -0.065
gini = 0.444
samples = 6
value = [4, 2]

class = -1 (not preferred)

Objective 3 <= -0.075
gini = 0.5

samples = 10
value = [5, 5]

class = -1 (not preferred)


